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Note:

ﬁ{{QT :

Note:

The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

g U9 UF ‘31, ‘T’ @R ‘9’ o wuel ¥ i g1 udd
Gus & MGATTAR el &b IR QISIT|

Section - A 7X2=14

(Very Short Answer Questions)
Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.
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Qus - ‘37’
(@rfer o7 IR UeT)
fAder: Tt weAl & IR SIIQI 31T 310 TR DT UAER T TG,
TP 1 A1 fman 30 e H R Hil e ued
2 37T BT gl

1) (i) Whatis Communication?
FIN T 82
(i) What is Agriculture Communication?

PN TR T 87

(iil) What is Development?
foremT o/ 82

(iv) Write the full form of SMCR?
SMCR &7 Y1 ¥ feRau ?

(v) What is Liberalization?

SERIBROT T 2 ?

(vi) Define the Folk stories?

b Herell | FT aead g 2

(vii) What is Communist Theory?

[a

qrrdaret Rigid o 2?2
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Section - B 4X7=28
(Short Answer Questions)

Note: Answer any four questions. Each answer should not

exceed 200 words. Each question carries 7 marks.

(Tvs - 9)
(oTg ITRIT UeA)

fAder: gl IR Ul & IR ST 3T 3 IR Dl 3ferhad

200 9rect o gRAfAT HIRTTI T U9T 7 37! & gl

Define about the Globalization?

Feffeur & IR ferfau

What is Group Communication?
g AR hI fGaemr S
Write about the De Fleur Model.
& TN & Alsol & IR 7 forRgu|

Write the short note on Case Study method.

Jafaas ugfa wR Afém feaoft ey

Explain the Authoritarian Theory of Mass Communication.
SRR & Tcadrel fagia &l faaaer S|

Discuss the role of Communication Mediums in Development.
fprT # FaR ATemi b fient o Tat BIfTgl

Define the Traditional Media?

URURS HIETT A 31T AT TS g 2

Discuss the role of Radio in Agriculture Communication.

T IR 3 Y 6 g i et B
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Section-C 2X14=28
(Long Answer Questions)
Note: Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries
14 marks.

(s - 9)
(Sref ST 1)
fAder : el Q1 Ul & IR SARITI 3T 3o TR B 31ferepad 500
geq) o uRAfAa HITTI oA U9 14 3l & &

10) What are the Communication Models? Discuss the Osgood
Model.
AR Aled T & ? SIRTIS P HISel dl T DbIfoTg|

11) What is the Development Process? Explain the effect of
development in social life.

T vfshar T 82 AT Stted | fJers & U9 @1 guie
P

12) Write about the difficulties of Presentation in Rural Writing.

IO oI T IR bl A3 B IR H fIRau

13) What is Content Analysis? Discuss the objectives of Content
Analysis.
sicrev o TGy T 32 aicdieq Resyw & SRea B T
B
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